


If Lt exists, we Say 4he
| ~proyer infeﬁrﬁl f:{wdx

(onverqes otherwise i
d:vuaes .




S: Fxydx = \im f:-Hx) o x

A -
{.\\-e,\vwa\ \$ \'\{l'\i*e

CDoo




| o dgfwno’nc an "MPN’?Or

;“"'QV“( Conveﬂ)(’s/d.‘ verqes :

. Identify dhe preblematic
inteqral bound(s)

¢ J& yow can Coh\puﬂ

indef. Mtegral, than

cvaluwite limit erplicitly









C C .
(7 Ldx = lalxt| <lac

lim lacCc =2 o0 (DAE)
(=2

e T O W -

onswer: P21 = OConverges

P D diveqes









onsSwer .

P €| = Converyes

P21 = diveryes



p=0
div

div

P>\

Cony

div









hen
Say S:: Gnverses W

BOTH [mits oxAst .
D+nerwise i+ o verges









